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Установите соответствие между репликами-стимулами и ответными репликами. Выберите
один из предложенных вариантов ответа. Одна ответная реплика является лишней.
 

РЕПЛИКИ-СТИМУЛЫ   ОТВЕТНЫЕ

1  — Did I do something wrong?
2  — What should I do if they give me a present?
3  — Sorry about that. I didn't realise you were on the phone.
4  — Is it OK if I help myself?

 

A  — If I were you, I'd smile an
B  — No, you'd better not. It's c
C  — Yes, you should as a matte
D  — Don't worry about it. We 
E  — It's OK. Come in and take

1) 1A2B3D4E 2) 1A2D3B4C 3) 1D2A3E4B 4) 1D2E3C4A


